Related Rates- HW- worked out solutions on my webpage

1. A spherical balloon is inflated with gas at a rate of 500 cubic centimeters per minute,
What is the rate of change of the radius when the radius is 30 centimeters? v = %nﬁ
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2 Anairplane is flying at an altitude of 6 miles and passes directly over a radar antenna
(see figure below). When the plane is 10 miles away (s=10) the radar detects the distance s
is changing at a rate of 240 miles per hour. What is the speed of the plane? (you need
the Pythagorean thm)
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3. A water tank has the shape of an inverted circular cone with base radius 2m and height
4m. If water is being pumped into the tank at a rate of 2m*/min, find the rate at which
the water level is rising when the water is 3m deep. The volume of a circular cone with
radius 4 and height h is given byv= %nrzh

vV _

( 2
e :’%jt(’ih) N ot ~ 2 0?/min
ah -
iy pAYeNa -
%\&t - IQ’E(BV\ )O\Jc at "




RELATED RATES- CW-day 1

{ As aball in the shape of a sphere is being blown up, the volume is increasing at the rate

of 4 cubic inches per second. Af what rate is the radius increasing
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when the radius is 1.5

2 A balloon rises at the rate of 8 feet per second from a point on the ground 60 ft from
an observer. Find the rate of change of the angle of elevation when the balloon is 25 ft
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3. A ladder 15 ft long is leaning against a building so that the end is on level ground. The
ladder is moved away from the building at the constant rate of 1 foot per second. Find
the rate af which the height is changing when the ladder is 9 feet from the building.
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